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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]

—&— ECC
—&— ECI

3250

3000 -

2750 -

2500 -

2250 -

2000 ‘
Warning: col ['FVIEC\Y i

1750 ~




Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-4 0
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G3-4

B | GEBERTK (7)) | EBE (BEFA/HK) | EREE (/R [RS R

06:50 254 100.0 2.16 |Z=| {Ri@06:50 Bz (RERESE)
07:50 254 100.0 2.16 [ =| {Ri&e07:50 Bzl (RAEHE)
08:50 254 100.0 2.16 [Z=| {Ri&e08:50 Bz (KRAERKE)
09:50 254 100.0 2.16 [ =| {Ri&e09:50 Bzl (RAEHSE)
11:10 254 100. 0 2.16 BB FmHRe11:10 B3h (GGRAERHS)
12:40 254 100. 0 2.16 [/\fi| FnHA@12:40 Bz (*Fﬁf‘%mn
14:10 254 100.0 2.16 |/f| FhHAe14:10 Bzl (KREERHEE
15:55 254 100.0 2.16 [/\fi| FHHA@15:55 Hzh <5EFFM:§E!‘§%§)
2it|2032.0 (8%) 800. 0 3 IUHK/EC: 2250, PH: 6.3

MERFERBHAYIEE, iH RiHKPHS 546.5,10.0,6.5, REKK
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BEREEBIPH (9.98) 5FMPH (6.5) {REIK, FHRE
HRENE Y S K &PH 6. 33
HEBR Y S RFREC 2250.0
LERERPH (10.4) 5i&EE (6.3) REKK, BFRE.
LORGEBIPH (10.4) S5REIEN (6.3) RERK, BRE.
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G3-4

BfiE) | GEBATK (7)) | ERE (EH/f) | ERERE (/R | XS e

06:05 246 100. 0 2.16 FH| 1Bi&%@06:05 Bzh (RAERE)
07:05 246 100.0 2.16 FA| 1BRi%@07:05 B3zh (KAERESE)
08:05 246 100.0 2.16 FA| 1BRi%@08:05 B3h (FKA{EREEE)
11:55 246 100.0 2.16 (Z=| {Ri%e11:55 Bz (REAEBSE)
14:35 246 100.0 2.16 FA| {Ri%@14:35 Bz (GRAEEE)
2it]1230.0 (5%) 500. 0 ZHKEC: 2250, PH: 6.4

RGBT R AR EZ Y (250 vs 167.0))

PRI\ L BRIERE150. 0 ml.

large discrepency for begining water status (247:14.0), set to 247 ml
REXFEABHLATIRE, it Ri&PHS 31 46.5,10.3,6.5, REK K
REXFEBIPH (10.3) 5i&%EPH (6.5) REKK, BRE
REXEMIPH (10.3) 5FiPH (6.5 REKK, BHRE

FRAVE NS KIFBPH 6. 42
FRAE NS KIFHIREC 2250

.0

LSRGEBPH (9.7) 5%EE (6.5 WERKX, HEE.
ERGEEBPH (9.7) SR (6.4) MERK, HHRE.




G3-4_0, Day=31 (2025-06-12)
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G3-4

BYiE) | GEBIATIK () | EHME (EH/&) | EBRERE (/X)) | KR R

07:45 246 100.0 2.16 = RRiB007:45 Bz (RFAKEESE)
08:45 246 100.0 2.16 5| {Ri%@08:45 Bz (KRFAERSE)
10:10 246 100.0 2.16 5| {Ri%e10:10 B3 (RAERSE)
11:25 246 100. 0 2.16 El BRige11:25 Bz CGRAEESE)
12:55 246 100.0 2.16 S| {Rige12:55 B (REAERSE)
14:20 246 100.0 2.16 E| {Rig014:20 B3h (GRE{ERSE)
15:40 246 100.0 2.16 E BRige15:40 Bz CGRAERSE)
17:15 246 100.0 2.16 Sl Rige17:15 B3 (RAERSE)
23t1]1968.0 (8%) 800. 0 IHKEC: 2250, PH: 6.5

RGBT R IRAREIZ N (246 vs 164.0))

2RI\ L PRIERE150. 0 ml.
MEXMEREHB9IRE, i R iFHRPHA 5I46.5,10.3,6.2, REK KX
REXRERIPH (10.34) 5i&EPH (6.5) REKK, HRE
BEXREBIPH (10.34) 5FMPH (6.5) REK K, HRE

REGE NS RFHKPH 6. 47

HEEIRECE (2550. 0 vs 3362.0) RS
AN S RFHREC 2250. 0

LORGEBIPH (10.3) 5i&%E{E (6.5) RERK, BERE.
LRGERPH (10.3) S5#EREN (6.5) RERK, BRE.
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G3-4

BYiE) | GEBIATK () | EHME (EA/H) | BEBRERE (B/R) | XK EE

06:40 246 100.0 2.16 S| {Ri%e06:40 B (RAERSE)
07:40 246 100.0 2.16 F BRi%e07:40 Bz (GRAERSE)
09:20 246 100.0 2.16 = RRi8009:20 Bah (RAEESE)
11:00 246 100.0 2.16 =l {Rige11:00 B3 (RAERSE)
12:40 246 100.0 2.16 E BRige12:40 Bz CGRAERESE)
14:15 246 100. 0 2.16 E| {Rige14:15 Bah (RE{EREE)
15:50 246 100.0 2.16 = RRiB015:50 B (RFAEEE)
2it[1722.0 (7% 700.0 EGHIKEC: 2250, PH: 6.5

RGBT R IRAREIZ N (246 vs 164.0))

2RI\ L PRIERE150. 0 ml.
MERFEREH B9IE S, i &3 &PHA B 46.5,10.3,6.5, REKX
REREERIPH (10.35) 5iZZEPH (6.5) REK K, HHRE
BEXREBIPH (10.35) 5FMPH (6.5) REK K, HRE

REE NS K RPH 6.5

HERECE (2660. 0 vs 3887.0) RS
AN S RFHREC 2250. 0
LORGEBIPH (10.3) 5i&%E{E (6.5) RERK, BERE.
LRGERPH (10.3) S5#EREN (6.5) RERK, BRE.
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G3-4

BrE) | GEBERTIC (B)) | EBE (EAH/#F) | EREE (B/R) | X8 R

06:35 197 100.0 2.16 FA| {Ri%@06:35 BHz (kAMEEE)
07:35 197 100.0 2.16 |Z=| {Ri%e07:35 B (KREAEZBE)
11:15 197 100.0 2.16 |Z=| {Rige11:15 Bz CGREAEZRE)
14:10 197 100.0 2.16 A 1Ri%e14:10 Bzh (RAERESE)
2it| 788.0 (4%) 400.0 EWGHIKEC: 2430, PH: 6.5

EORGEBRBTC R IR IR AR (197 vs 164.0))

ZRIASLPRIERE120. 0 ml.

MERMEAEHB9IRE, i B RPHA B 46.5,10. 4, 6.5, REWRK
FERZERPH (10.36) 5i&5EPH (6.5) REK K, FRAT
BEXREBIPH (10.36) 5FMPH (6.5) REK K, HHRE
FREVE Y S KiFHRPH 6.5

#[EKECE (2800.0 vs 4307.0) RS

FRAE NS KIFHIKEC 2430.0

LORGEBIPH (10.4) 5i1&EE (6.5) WERK, BRE.
LORGEBIPH (10.4) S5#AEN (6.5) REKK, BRE.
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